Assembly Instructions
6pc Wicker Conversation Set

st

Note:

When you buy One item ,might you will receive 2 or more boxes. Due to the carrier , all the boxes
cannot arrive at the same time. Please wait patiently for the rest of the boxes to arrive.

Assembly Tips:
1) Before assembly , please confirm that the parts are complete.

2) Hand tighten all the bolts to line up all the pieces. Tight all the screws to 60% first then tight
to 100%.

3) If the screws are not tight or twisted, do not use gravity, first loosen the adjacent holes, align

each hole, and then tighten.

page:10f16



Bs

X1

j=

X1

M6*35 X11

X11

DD

X2

page:20f16




cc
M6*35 X4, X4

page:30f16




page:40f16



j=

X1

M6*35 X12

X12

page:50f16







page:70f16



X1

X13

M6*35 X13

X2

page:80f16






page:100f16



X1 X1
EE FF
M6*35 X16 X22| M6*25X6| 9mmX2 | 4mm X4

page:110f16




cc
M6*35 X8, X8

page:120f16




3.

page:130f16



M6*35 X16

M6*25 X6

9mm X2

4mm X4

page:140f16




cc
M6*35 X8, X8

page:150f16




3.

page:160f16



